Reticolato 2 a2

Nome:

Usa la moltiplicazione del reticolo per risolvere ogni problema.

1
) 58x32= 2) 95x92= 3 gaxe5=

Risposte
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Reticolato 2 a2 Nome: Soluzioni
Usa la moltiplicazione del reticolo per risolvere ogni problema. Risposte
1) _ 2) _ 3) _
58x32= 95 x 92 = 84 x 65 = N 1.856
5 8 9 5 8 4
1 2 3 8 4 9 4 2 ,,” 6 |2 8.740
5 4 R | 5 g |.” 4
1 8 I 5 4
1 1 A1 71 4 2 3, 5.460
0 6|° g 0° ol ol®
8 71 _ 4 il 4. 574
5 6 4 . 0 6 0
5. 4.896
4) — 5) _ 6) _
41 x 14 = 51 x96= 44 x 77 = 6 3388
4 1 5 1 4 4
0,10 .71 4,10 g 2 12 7ol 4575
0 4 1 4 5 9 3 g | 8
1 0 13 0 2 2 7 8. 1.034
5 4 4 S 0 5 6 g 8 7
5 8 |.” 3 -
: - 405
7 4 9 6 8 8 %
10. 4.160
7) 8) 9
61lx75= 47 x 22 = 15x 27 =
11, 525
6 1 4 7 1 5
4 0 . 0. |1 ) 0 L5 (2 8.008
4 2 7 1 ,,z 8 l 4 0 2 // 0
3 0 0 |1 0 3 7
5 2 ST
5 0 5 ol 8 4 4 7 ,," 5
7 5 3,7 4 0 5
10) 64 x 65 = 11) 3B x15= 12) 88x91=
6 4 3 5 8 8
2 o . 7 7
3 e 0, 1 / e
4 6 4 0 3 / 5 3 2 |7 2
3 2 Sl 2 0 o .~
5 5 !
1 0 0 5.5 5 0 8|, 8
6 0 2 5 0 8
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